[image: image1.png]vl FUJIFILM




Integration Procedure for ADPC4 Kiosk

Help Desk Release:  Rev. E
[image: image2.png]


Kiosk Solutions
3605 Hwy 52 North
Rochester, MN 55901 

Greg Smith
507-253-0994

Change History

Revision
Description of Change



Resp. Engineer
Date (Ver)
A
- New BOM/Integration Procedure


GT Smith

09/09/2003
B
- Added Fuji-Canada Configuration


GT Smith

09/24/2003

- Added Table of Contents
C
- Removed ISO-Bar Surge Protector from

GT Smith

10/22/2003


Walgreens Version Ship Group


(Section 2.3)

- Added ISO-Bar Surge Protector to


Generic Versions Ship Group


(Section 2.0 & 2.1)

- Added 50 ft. Ethernet Cable to Wal-Mart

Version Ship Group (Section 2.2)

· Added 15 ft. Ethernet Cable to Canada


BOM (Section 1.1)
· Updated System Board P/N and FRU

for Spartan Rev 1.6 (Sections 1.0 – 1.2)

· Updated Processor P/N to include Step


Levels C-1 (38L4610) & D-1 (38L5116)

· Updated Fuji-Canada BOM to include

GT Smith

10/29/2003


MT/M and SKU Label Requirement on


Packaging (Section 6.6 and Checklist)

- Added ISO-Bar Surge Protector to


GT Smith

11/07/2003



Wal-Mart Version Ship Group



(Section 2.2)


· Updated Processor Fan/Sink Part Number

GT Smith

11/14/2003


as Former went EOL (P/N 01R3329


Replaces P/N 32P4003; FRU 01R3330


Replaces 32P4004)

D
- Added MT/M 1609-F46A to designate

GT Smith

12/08/2003



CD-RW version.


-
Modified the BOM for the Generic


Version with CD-RW, Product Code



06213240:  Specific 1609-F46A recovery



CD replaces the generic recovery CD


(Section 2.1 changed to 1.2).
Continued on next page…

Change History (Cont’d.)

Revision
Description of Change



Resp. Engineer
Date (Ver)
E
- Added a Keyboard Extension Cable


GT Smith

01/14/2004



(P/N IB-PS2MF03, FRU 20R2946)


to BOM Sections 1.3 and 1.4.


-
Added new MT/M 1609-F46B to
 
designate units with DVD Drives and 


Keyboard Extension Cables (Section 1.3).
· Added new MT/M 1609-F46C to


designate units with CD-RW Drives


and Keyboard Extension Cables


(Section 1.4).

· Added DVD Drive Kit (P/N 25K1622,


FRU 20R3398) in place of DVD


Drive FRU 41P5746 and DVD Rail


FRU 00N6412.  The DVD Drive


Kit includes a DVD Drive on which


Rails are mounted, a Dust Shield, and


Assembly Instructions.

· Changed the DVD Rail P/N from 00N6453


to 25K1621 and deleted the FRU (it’s now

included in DVD Drive Kit FRU 20R3398).


The new rail has slotted holes and is


mounted to the drive with screws rather than


a wire.
· Added Keyboard Extension Cable to the

GT Smith

1/28/2004

Integration Procedure (Section 4.3.1.0.8).

· Added Keyboard Extension Cable to the 


Software Load and Test procedures


(Section 5.0).

Table of Contents

Section
Title
Page

Document Revision History
 2
1
Summary Bills of Material
 5
2
Fuji Product Codes
17
3 
Test Group
21
4 
Integration Procedure
22
5 
Software Load and Test
49
6 
Labeling, Packaging, and Shipping
53
7 
Checklist
54

1
Summary Bills of Material

The following table provides a complete list of all parts used in various BOM definitions for the Fuji ADPC4.  Also included is the IBM or OEM FRU No.

1.0
Manufacturing Assembly Bill of Material for 1609-F46
Part Number 44L1046

	Description
	Part No.
	Qty
	FRU No.
	Source/Mfg

	Mechanical Enclosure and Covers
	
	
	
	

	Cover, Back
	63P9627
	1
	
	PTM/ITTC

	Cover, Back Outer
	63P9670
	1
	
	PTM/ITTC

	Spacer, Front
	63P9672
	4
	
	PTM/ITTC

	Spacer, Rear, Right
	63P9693
	1
	
	PTM/ITTC

	Spacer, Rear, Left
	63P9694
	1
	
	PTM/ITTC

	Lock, Card, I/O
	63P9545
	1
	
	PTM/ITTC

	Bezel, Monitor
	63P9776
	1
	
	PTM/ITTC

	Mount, Bezel
	63P9662
	2
	
	PTM/ITTC

	Shield, Dust, CD, Cloth
	63P9771
	1
	
	PTM/ITTC

	Bracket, DVD
	63P9635
	1
	
	PTM/ITTC

	Bracket, Bezel Hold-down
	63P9675
	1
	
	PTM/ITTC

	Bracket, 6-in-1 Reader
	63P9660
	1
	
	PTM/ITTC

	Bracket, Mount, 6-in-1 Reader
	63P9796
	2
	
	ITTC/ITTC

	Electrical Box Assembly
	63P9605
	1
	41P7049
	PTM/ITTC

	Bracket, Power Supply, Printer
	63P9663
	2
	
	PTM/ITTC

	Blank, Credit Card Slot
	63P9774
	1
	
	PTM/ITTC

	Cover Assembly, Upper
	63P9657
	1
	
	PTM/ITTC

	Bracket Assembly, Cross, Monitor
	63P9615
	1
	
	PTM/ITTC

	Bracket Assembly, HDD
	63P9614
	1
	
	PTM/ITTC

	Bracket Assembly, Mount, Monitor
	63P9616
	2
	
	PTM/ITTC

	Bracket Assembly, Speaker
	63P9617
	1
	
	PTM/ITTC

	Chassis Subassembly
	63P9702
	1
	
	PTM/ITTC

	Chassis Subassembly, Motherboard
	63P9612
	1
	
	PTM/ITTC

	Cover Assembly, Print Tray
	63P9709
	1
	
	PTM/ITTC

	Chassis Assembly, Printer
	63P9609
	1
	
	PTM/ITTC

	Feet, Rubber
	63P9677

(3M SJ5023 BLK)
	4
	
	Fastenal/ITTC

	Cover Assembly, Left
	63P9737
	1
	
	PTM/ITTC

	Cover Assembly, Right
	63P9738
	1
	
	PTM/ITTC

	Track, Cable Management
	63P9659
	1
	
	PTM/ITTC

	Bracket Assembly, Cable Management
	63P9618
	1
	
	PTM/ITTC

	Tray Assembly, Print
	63P9610
	1
	
	PTM/ITTC

	Rail, Slide, 12”
	63P9723

(C3832-C12)
	2
	
	Accuride/ITTC

	Cover Assembly, Front
	63P9727
	1
	
	PTM/ITTC

	Edging, 272 mm X 2.5 mm
	63P9782
	1
	
	Newark/ITTC

	Edging, 267 mm X 1 mm
	63P9783
	1
	
	Newark/ITTC

	Edging, 45 mm X 1 mm
	63P9784
	1
	
	Newark/ITTC

	Edging, 67 mm X 1 mm
	63P9792
	1
	
	Newark/ITTC

	Edging, 237 mm X 1 mm
	63P9795
	1
	
	Newark/ITTC


	IBM/OEM Integrated Parts
	
	
	
	

	Board, System—Spartan Planar w/o POV.  Ports:  10/100 Ethernet, 4 USB, 2 Serial, 1 Parallel, 1 RJ45
	89P8073
	1
	88P8474
	USI/IBM Kiosk

	CPU, 2.0 GHz Celeron
	38L4610 (Step C-1))
38L5116 (Step D-1)
	1
	88P5835
	Intel/IBM Kiosk

	Heat Sink, w/Fan
	01R3329
	1
	01R3330
	Foxconn/IBM Kiosk

	Fan, System, 60 mm
	22P4375
	1
	22P3635
	Chenghome/IBM Kiosk

	DIMM, 256MB, DDR
	38L4786
	1
	33L3305
	Micron/IBM Kiosk

	Power Supply, 185W (Wildcat Chassis)
	24P6880
	1
	24P6883
	AcBel/IBM Kiosk

	HDD, 40GB, 7200 RPM
	07N9673
	1
	19K1568
	Hitachi/IBM Kiosk

	Rail, HDD
	19K5335
	2
	19K5335
	Foxconn/IBM Kiosk

	Rail, DVD
	25K1621
	2
	
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Left
	00N6455
	1
	00N6413
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Right
	00N6457
	1
	00N6413
	Chengming/IBM Kiosk

	Cable, DVD and HDD, 80-pin IDE
	37L5001
	2
	49P4364
	Foxconn/IBM Kiosk

	Suppression Core, Flat Cable
	0443163951
	1
	
	Fair-Rite/ITTC

	Speakers, Audio, w/Cable
	63P9788
	1
	41P7043
	Kuroda/ITTC

	Cable, Power, Display
	63P9793

(PG8B9J2CA0A-18)
	1
	41P7044
	Longwell/ITTC

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Cable, Touch Screen, Serial, 2 ft.
	63P9785

(FJ09K18-0B)
	1
	41P7046
	Foxconn/ITTC

	Cable, Monitor, 2 ft.
	63P9786

(CD15D02D15-K40)
	1
	41P7047
	Foxconn/ITTC

	Button Assembly, Power
	37L4985
	1
	41P7050
	Foxconn/IBM Kiosk

	Blank, I/O Filler
	09N5740
	3
	
	Foxconn/ITTC

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD), Green w/Flush-Mount Bezel
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878

(AHA-2930U)
	Adaptec/IBM Kiosk

	Cable, SCSI, Two position, 28 in.
	IB-062601A
	1
	41P7284
	PacTech/IBM Kiosk

	Drive, DVD, IDE, Slot-load
	DVD-120S
	1
	See Kit (below)
	Pioneer/IBM Kiosk

	Kit, DVD Drive w/Rails and Dust Shield
	25K1622
	
	20R3398
	ITTC/IBM Kiosk

	Drive, Floppy, Internal
	06P5294,19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	49P4764
	Foxconn/ITTC

	Cable, USB 2.0 Port Extension, 3 ft.
	PC-U2AAMF3
	1
	41P8141
	H. Dadpey/IBM Kiosk

	Tie, Cable, 4 in.
	5420242
	6
	
	NABS/ITTC

	Tie, Cable, 8 in.
	524519
	6
	
	NABS/ITTC

	Clamp, Cable
	LFCC-5
	1
	
	NABS/ITTC

	Bracket, Cable Tie-Down
	TM3510-C
	2
	
	NABS/ITTC

	
	
	
	
	

	Optional Parts
	
	
	
	

	Drive, CD-RW, Internal, SCSI, Tray-load
	PX-W4012TS-BPS/FF
	1
	41P5217
	Plextor/IBM Kiosk

	Bezel, Front, for use with CD-RW Drive
	63P9716
	1
	
	PTM/ITTC

	Cable, SCSI, Three-position, 40 in.
	IB-062602A
	1
	41P7285
	PacTech/IBM Kiosk

	Thermal Printer Assembly – Built by CSC
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	PTM/ITTC

	
	Cover, Electrical, Printer
	63P9720
	1
	
	PTM/ITTC

	
	Bracket Assembly, Printer Input Card
	63P9747
	1
	
	PTM/ITTC

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	63P9604

(M-T532AP-001)
	1
	
	Epson/IBM Kiosk

	
	Board, Controller, 24VDC
	63P9748

(D104011)
	1
	
	Epson/IBM Kiosk

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Line Cord, Power Supply, Internal, Right Angle
	63P9794

(PG8B9J2CB0A-18)
	1
	41P7045
	Longwell/ITTC

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD25C03L36-K41)
	1
	41P7057
	Foxconn/ITTC

	Paper, Roll, 110 mm Diameter
	109236400
	1
	
	Epson/IBM Kiosk

	Scanner, Barcode
	TBD
	1
	TBD
	Symbol/IBM Kiosk

	Reader, Credit Card, Serial, Port-powered, Fully Programmable, Triple Track, LED, 5V, Dual Heads, w/Cable
	MSR 152-33-WBKB-PDH
	1
	
	UIC/IBM Kiosk

	Cable, Credit Card Reader, Serial
	FOXCONN0303
	1
	
	Foxconn/IBM Kiosk

	Bracket, Credit Card Reader
	63P9653
	1
	
	PTM/ITTC

	Standoff, Cable, Credit Card Reader
	205817-1
	2
	
	AMP/ITTC

	
	
	
	
	

	Required Forms and Labels
	
	
	
	

	Label, System Board Locator
	
	1
	N/A
	IBM CSC Rochester

	Label, Machine Type/Serial Number
	
	1
	N/A
	IBM CSC Rochester 

	Label, Machine Type/Serial Number w/Barcode
	
	1
	N/A
	IBM CSC Rochester

	Label, ETL/FCC Certification
	
	1
	N/A
	IBM CSC Rochester

	Checklist, Integration
	
	1
	N/A
	FUJI

	Label, FIN
	
	1
	N/A
	FUJI

	
	
	
	
	

	Product Code and External Label Definition
	
	1
	N/A
	FUJI

	ADPC4 generic w/DVD
	6213230
	
	
	

	ADPC4 generic w/CD-RW
	6213240
	
	
	

	ADPC4 Wal-Mart
	6213250
	
	
	

	ADPC4  Walgreens
	6213260
	
	
	

	External Label Generation
	
	2
	N/A
	IBM CSC Rochester

	Custom Packaging
	
	1
	N/A
	IBM CSC Rochester

	
	
	
	
	

	Software 
	
	
	
	

	Windows 2000 Professional License
	Microsoft
	1
	N/A
	IBM Netvista

	Windows 2000 Professional Label
	Microsoft
	1
	N/A
	IBM Netvista

	PC Anywhere  (license only shipped to HD)
	07-92-06829
	1
	N/A
	IBM Atlanta

	Ghost (license only shipped to HD)
	07-92-7083
	1
	N/A
	IBM Atlanta

	Software Recovery CD
	Custom
	1
	
	IBM/IBM Kiosk

	Wal-Mart  (3 CDs) Application Software

ADPC4 Wal-Mart Recovery CD-ROM 

ADPC4 Wal-Mart & Sam’s Club AUX CD    

ADPC4 Wal-Mart Standard Greetings CD
	June 2003

June 2003

August 2002
	1
	
	IBM Atlanta

	
	
	
	
	

	Fasteners
	
	
	
	

	M4 X 8 mm SCREW
	E220913-02 x5
	106
	N/A
	NABS/ITTC

	M3 X 20 mm SCREW
	1624749
	2
	N/A
	NABS/ITTC

	6-32 X 1/4 in. SCREW
	E2220913-01 x3
	8
	N/A
	NABS/ITTC

	M3.5 X 7 mm SCREW
	92F1294
	5
	N/A
	NABS/ITTC

	M3 X 6 mm SCREW
	E230130-1  x4
	26
	N/A
	NABS/ITTC

	M3 X 30 mm SCREW
	63P9630
	4
	N/A
	NABS/ITTC

	M4 X 6 mm SCREW
	E230130-2  x3
	14
	N/A
	NABS/ITTC

	M4 X 5 mm SCREW
	93H4729
	6
	N/A
	NABS/ITTC

	M3 X 5 mm SCREW
	33G3907
	4
	N/A
	NABS/ITTC

	M4 X 10 mm SCREW
	1624766
	4
	N/A
	NABS/ITTC

	M6 X 25 mm THUMB SCREW
	63P9625
	4
	N/A
	NABS/ITTC

	M4 X 12 mm THUMB SCREW
	63P9713
	4
	N/A
	NABS/ITTC

	M3.5 X 7 mm TAPTITE SCREW
	03K9553
	1
	N/A
	NABS/ITTC

	#6 X 3/8 in. SELF TAP SCREW
	32284
	4
	N/A
	FASTENAL/ITTC

	M4 X 16 mm SCREW
	91203
	? 
	N/A
	FASTENAL/ITTC


1.1 
Fuji-Canada:  Manufacturing Assembly Bill of Material for 1609-FC1 Part Number 44L1046
	Description
	Part Number
	Qty
	FRU No.
	Source/Mfg

	Enclosure, ADPC Lite Kiosk:  Chassis, Covers, Bezels, Printer Drawer Slides, Electrical Box
	Fuji ADPC4
	1
	
	PTM/ITTC

	
	
	
	
	


	IBM/OEM Integrated Parts
	
	
	
	

	Board, System—Spartan Planar w/o POV.  Ports:  10/100 Ethernet, 4 USB, 2 Serial, 1 Parallel, 1 RJ45
	89P8073
	1
	88P8474
	USI/IBM Kiosk

	CPU, 2.0 GHz (Future Release:  38L5116)
	38L4610 (Step C-1))

38L5116 (Step D-1)
	1
	88P5835
	Intel/IBM Kiosk

	Heat Sink, w/Fan
	32P4003
	1
	32P4004
	Foxconn/IBM Kiosk

	Fan, System, 60 mm
	22P4375
	1
	22P3635
	Chenghome/IBM Kiosk

	DIMM, 256MB, DDR
	38L4786
	1
	33L3305
	Micron/IBM Kiosk

	Power Supply, 185W (Wildcat Chassis)
	24P6880
	1
	24P6883
	AcBel/IBM Kiosk

	HDD, 40GB, 7200 RPM
	07N9673
	1
	19K1568
	Hitachi/IBM Kiosk

	Rail, HDD
	19K5335
	2
	19K5335
	Foxconn/IBM Kiosk

	Rail, DVD
	25K1621
	2
	
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Left
	00N6455
	1
	00N6413
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Right
	00N6457
	1
	00N6413
	Chengming/IBM Kiosk

	Cable, DVD and HDD, 80-pin IDE
	37L5001
	2
	49P4364
	Foxconn/IBM Kiosk

	Suppression Core, Flat Cable
	0443163951
	1
	
	Fair-Rite/ITTC

	Speakers, Audio, w/Cable
	63P9788
	1
	41P7043
	Kuroda/ITTC

	Cable, Power, Display
	63P9793

(PG8B9J2CA0A-18)
	1
	41P7044
	Longwell/ITTC

	Line Cord, Power Supply, Internal, Right Angle
	63P9794

(PG8B9J2CB0A-18)
	1
	41P7045
	Longwell/ITTC

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Cable, Touch Screen, Serial, 2 ft.
	63P9785

(FJ09K18-0B)
	1
	41P7046
	Foxconn/ITTC

	Cable, Monitor, 2 ft.
	63P9786

(CD15D02D15-K40)
	1
	41P7047
	Foxconn/ITTC

	Button Assembly, Power
	37L4985
	1
	41P7050
	Foxconn/IBM Kiosk

	Electrical Box Assembly
	63P9605
	1
	41P7049
	PTM/ITTC

	Blank, I/O Filler
	09N5740
	3
	
	Foxconn/ITTC

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD), Green w/Flush-Mount Bezel
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878

(AHA-2930U)
	Adaptec/IBM Kiosk

	Cable, SCSI, Two position, 28 in.
	IB-062601A
	1
	41P7284
	PacTech/IBM Kiosk

	Drive, DVD, IDE, Slot-load
	DVD-120S
	1
	See Kit (below)
	Pioneer/IBM Kiosk

	Kit, DVD Drive w/Rails and Dust Shield
	25K1622
	
	20R3398
	ITTC/IBM Kiosk

	Drive, Floppy, Internal
	06P5294,19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	49P4764
	Foxconn/ITTC

	Cable, USB 2.0 Port Extension, 3 ft.
	PC-U2AAMF3
	1
	41P8141
	H. Dadpey/IBM Kiosk

	Tie, Cable, 4 in.
	5420242
	6
	
	NABS/ITTC

	Tie, Cable, 8 in.
	524519
	6
	
	NABS/ITTC

	Clamp, Cable
	LFCC-5
	1
	
	NABS/ITTC

	Bracket, Cable Tie-Down
	TM3510-C
	2
	
	NABS/ITTC

	Thermal Printer Assembly – Built by CSC
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	PTM/ITTC

	
	Cover, Electrical, Printer
	63P9720
	1
	
	PTM/ITTC

	
	Bracket Assembly, Printer Input Card
	63P9747
	1
	
	PTM/ITTC

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	63P9604

(M-T532AP-001)
	1
	
	Epson/IBM Kiosk

	
	Board, Controller, 24VDC
	63P9748

(D104011)
	1
	
	Epson/IBM Kiosk

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD25C03L36-K41)
	1
	41P7057
	Foxconn/ITTC

	
	
	
	
	

	Software 
	
	
	
	

	Windows 2000 Professional
	B23-03604
	1
	N/A
	Ingram

	Ghost 7.0 Corporate Edition (License Only)
	07-92-5890
	1
	N/A
	SHI

	Canadian Base Recovery CD
	Custom
	1
	
	IBM/IBM Kiosk

	
	
	
	
	

	Ship Group
	
	
	
	

	Paper, Roll, 110 mm Diameter
	109236400
	1
	
	Epson/IBM Kiosk

	Keyboard, Mini, PS2, Ivory
	KB-595P
	1
	40P6682
	SolidTek/IBM Kiosk

	Mouse, 2-Button, White
	28L3672
	1
	24P0381
	IBM/IBM Kiosk

	Cable, Ethernet, 15 ft.
	A3LA3L791-15-BLU-S
	1
	
	Belkin/IBM Kiosk

	Recovery CD, Canadian, Generic
	Custom
	1
	
	IBM/IBM Kiosk


1.2
Fuji-Canada:  Manufacturing Assembly Bill of Material for 1609-F46A Part Number 44L1046
	Description
	Part Number
	Qty
	FRU No.
	Source/Mfg

	Enclosure, ADPC Lite Kiosk:  Chassis, Covers, Bezels, Printer Drawer Slides, Electrical Box
	Fuji ADPC4
	1
	
	PTM/ITTC

	
	
	
	
	

	IBM/OEM Integrated Parts
	
	
	
	

	Board, System—Spartan Planar w/o POV.  Ports:  10/100 Ethernet, 4 USB, 2 Serial, 1 Parallel, 1 RJ45
	89P8073
	1
	88P8474
	USI/IBM Kiosk

	CPU, 2.0 GHz Celeron
	38L4610 (Step C-1))

38L5116 (Step D-1)
	1
	88P5835
	Intel/IBM Kiosk

	Heat Sink, w/Fan
	01R3329
	1
	01R3330
	Foxconn/IBM Kiosk

	Fan, System, 60 mm
	22P4375
	1
	22P3635
	Chenghome/IBM Kiosk

	DIMM, 256MB, DDR
	38L4786
	1
	33L3305
	Micron/IBM Kiosk

	Power Supply, 185W (Wildcat Chassis)
	24P6880
	1
	24P6883
	AcBel/IBM Kiosk

	HDD, 40GB, 7200 RPM
	07N9673
	1
	19K1568
	Hitachi/IBM Kiosk

	Rail, HDD
	19K5335
	2
	19K5335
	Foxconn/IBM Kiosk

	Rail, DVD
	25K1621
	2
	
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Left
	00N6455
	1
	00N6413
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Right
	00N6457
	1
	00N6413
	Chengming/IBM Kiosk

	Cable, DVD and HDD, 80-pin IDE
	37L5001
	2
	49P4364
	Foxconn/IBM Kiosk

	Suppression Core, Flat Cable
	0443163951
	1
	
	Fair-Rite/ITTC

	Speakers, Audio, w/Cable
	63P9788
	1
	41P7043
	Kuroda/ITTC

	Cable, Power, Display
	63P9793

(PG8B9J2CA0A-18)
	1
	41P7044
	Longwell/ITTC

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Cable, Touch Screen, Serial, 2 ft.
	63P9785

(FJ09K18-0B)
	1
	41P7046
	Foxconn/ITTC

	Cable, Monitor, 2 ft.
	63P9786

(CD15D02D15-K40)
	1
	41P7047
	Foxconn/ITTC

	Button Assembly, Power
	37L4985
	1
	41P7050
	Foxconn/IBM Kiosk

	Blank, I/O Filler
	09N5740
	3
	
	Foxconn/ITTC

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD)
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878
	Adaptec/IBM Kiosk

	Drive, CD-RW, Internal, SCSI, Tray-load
	PX-W4012TS-BULK/FF
	1
	41P5217
	Plextor/IBM Kiosk

	Cable, SCSI, Three-position, 40 in.
	IB-062602A
	1
	41P7285
	PacTech

	Drive, Floppy, Internal
	06P5294, 19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	41P7060
	Foxconn/ITTC

	Cable, USB 2.0 Port Extension, 3 ft.
	PC-U2AAMF3
	1
	41P8141
	H. Dadpey/IBM Kiosk

	
	
	
	
	

	Ship Group Parts
	
	
	
	

	Paper, Roll, 110 mm O.D.
	?
	
	
	Epson/IBM Kiosk

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Keyboard, Mini, PS2, Ivory
	KB-595P
	1
	40P6682
	SolidTek/IBM Kiosk

	Suppressor, Surge, 6 outlets, ISO
	ISOBAR6
	1
	40P3417
	Tripp-Lite/IBM Kiosk

	Recovery CD, 1609-F46A
	Custom
	1
	
	IBM/IBM Kiosk

	
	
	
	
	

	Optional Parts
	
	
	
	

	Thermal Printer Assembly – Built by CSC
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	

	
	Cover, Electrical, Printer
	63P9720
	1
	
	

	
	Bracket Assembly, Controller Board, Printer
	63P9747
	1
	
	

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	M-T532AP-001
	1
	
	

	
	Board, Controller, 24VDC
	D104011
	1
	
	

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Paper, Roll, 110 mm Diameter
	?
	
	
	Epson/IBM Kiosk

	Scanner, Barcode
	TBD
	1
	TBD
	Symbol/IBM Kiosk

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD2503L36-K41)
	1
	41P7057
	Foxconn/ITTC

	Reader, Credit Card, Serial, Port-powered, Fully Programmable, Triple Track, LED, 5V, Dual Heads, w/Cable
	MSR 152-33-WBKB-PDH
	1
	
	UIC/IBM Kiosk

	Cable, Reader, Credit Card, Serial
	FOXCONN0303
	1
	
	Foxconn/IBM Kiosk

	Bracket, Reader, Credit Card
	63P9653
	1
	
	PTM/ITTC


1.3
Manufacturing Assembly Bill of Material for 1609-F46B
Part Number 44L1046—with DVD Drive and Keyboard Extension Cable

	Description
	Part Number
	Qty
	FRU No.
	Source/Mfg

	Enclosure, ADPC Lite Kiosk:  Chassis, Covers, Bezels, Printer Drawer Slides, Electrical Box
	Fuji ADPC4
	1
	
	PTM/ITTC

	
	
	
	
	

	IBM/OEM Integrated Parts
	
	
	
	

	Board, System—Spartan Planar w/o POV.  Ports:  10/100 Ethernet, 4 USB, 2 Serial, 1 Parallel, 1 RJ45
	89P8073
	1
	88P8474
	USI/IBM Kiosk

	CPU, 2.0 GHz Celeron
	38L4610 (Step C-1))

38L5116 (Step D-1)
	1
	88P5835
	Intel/IBM Kiosk

	Heat Sink, w/Fan
	01R3329
	1
	01R3330
	Foxconn/IBM Kiosk

	Fan, System, 60 mm
	22P4375
	1
	22P3635
	Chenghome/IBM Kiosk

	DIMM, 256MB, DDR
	38L4786
	1
	33L3305
	Micron/IBM Kiosk

	Power Supply, 185W (Wildcat Chassis)
	24P6880
	1
	24P6883
	AcBel/IBM Kiosk

	HDD, 40GB, 7200 RPM
	07N9673
	1
	19K1568
	Hitachi/IBM Kiosk

	Rail, HDD
	19K5335
	2
	19K5335
	Foxconn/IBM Kiosk

	Rail, DVD
	25K1621
	2
	
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Left
	00N6455
	1
	00N6413
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Right
	00N6457
	1
	00N6413
	Chengming/IBM Kiosk

	Cable, DVD and HDD, 80-pin IDE
	37L5001
	2
	49P4364
	Foxconn/IBM Kiosk

	Suppression Core, Flat Cable
	0443163951
	1
	
	Fair-Rite/ITTC

	Speakers, Audio, w/Cable
	63P9788
	1
	41P7043
	Kuroda/ITTC

	Cable, Power, Display
	63P9793

(PG8B9J2CA0A-18)
	1
	41P7044
	Longwell/ITTC

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Cable, Touch Screen, Serial, 2 ft.
	63P9785

(FJ09K18-0B)
	1
	41P7046
	Foxconn/ITTC

	Cable, Monitor, 2 ft.
	63P9786

(CD15D02D15-K40)
	1
	41P7047
	Foxconn/ITTC

	Button Assembly, Power
	37L4985
	1
	41P7050
	Foxconn/IBM Kiosk

	Blank, I/O Filler
	09N5740
	3
	
	Foxconn/ITTC

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD), Green w/Flush-Mount Bezel
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878

(AHA-2930U)
	Adaptec/IBM Kiosk

	Cable, SCSI, Two position, 28 in.
	IB-062601A
	1
	41P7284
	PacTech/IBM Kiosk

	Drive, DVD, IDE, Slot-load
	DVD-120S
	1
	See Kit (below)
	Pioneer/IBM Kiosk

	Kit, DVD Drive w/Rails and Dust Shield
	25K1622
	
	20R3398
	ITTC/IBM Kiosk

	Drive, Floppy, Internal
	06P5294,19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	49P4764
	Foxconn/ITTC

	Cable, USB 2.0 Port Extension, 3 ft.
	PC-U2AAMF3
	1
	41P8141
	H. Dadpey/IBM Kiosk

	Cable, Keyboard Extension, 3 ft.
	IB-PS2MF03




	1
	20R2946
	H. Dadpey/IBM Kiosk

	Tie, Cable, 4 in.
	5420242
	6
	
	NABS/ITTC

	Tie, Cable, 8 in.
	524519
	6
	
	NABS/ITTC

	Clamp, Cable
	LFCC-5
	1
	
	NABS/ITTC

	Bracket, Cable Tie-Down
	TM3510-C
	2
	
	NABS/ITTC

	
	
	
	
	

	Optional Parts
	
	
	
	

	Drive, CD-RW, Internal, SCSI, Tray-load
	PX-W4012TS-BPS/FF
	1
	41P5217
	Plextor/IBM Kiosk

	Bezel, Front, for use with CD-RW Drive
	63P9716
	1
	
	PTM/ITTC

	Cable, SCSI, Three-position, 40 in.
	IB-062602A
	1
	41P7285
	PacTech/IBM Kiosk

	Thermal Printer Assembly – Built by CSC
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	PTM/ITTC

	
	Cover, Electrical, Printer
	63P9720
	1
	
	PTM/ITTC

	
	Bracket Assembly, Printer Input Card
	63P9747
	1
	
	PTM/ITTC

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	63P9604

(M-T532AP-001)
	1
	
	Epson/IBM Kiosk

	
	Board, Controller, 24VDC
	63P9748

(D104011)
	1
	
	Epson/IBM Kiosk

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Line Cord, Power Supply, Internal, Right Angle
	63P9794

(PG8B9J2CB0A-18)
	1
	41P7045
	Longwell/ITTC

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD25C03L36-K41)
	1
	41P7057
	Foxconn/ITTC

	Paper, Roll, 110 mm Diameter
	109236400
	1
	
	Epson/IBM Kiosk

	Scanner, Barcode
	TBD
	1
	TBD
	Symbol/IBM Kiosk

	Reader, Credit Card, Serial, Port-powered, Fully Programmable, Triple Track, LED, 5V, Dual Heads, w/Cable
	MSR 152-33-WBKB-PDH
	1
	
	UIC/IBM Kiosk

	Cable, Credit Card Reader, Serial
	FOXCONN0303
	1
	
	Foxconn/IBM Kiosk

	Bracket, Credit Card Reader
	63P9653
	1
	
	PTM/ITTC

	Standoff, Cable, Credit Card Reader
	205817-1
	2
	
	AMP/ITTC

	
	
	
	
	

	Required Forms and Labels
	
	
	
	

	Label, System Board Locator
	
	1
	N/A
	IBM CSC Rochester

	Label, Machine Type/Serial Number
	
	1
	N/A
	IBM CSC Rochester 

	Label, Machine Type/Serial Number w/Barcode
	
	1
	N/A
	IBM CSC Rochester

	Label, ETL/FCC Certification
	
	1
	N/A
	IBM CSC Rochester

	Checklist, Integration
	
	1
	N/A
	FUJI

	Label, FIN
	
	1
	N/A
	FUJI

	
	
	
	
	

	Product Code and External Label Definition
	
	
	
	

	ADPC4 generic w/DVD
	6213230
	
	
	

	ADPC4 generic w/CD-RW
	6213240
	
	
	

	ADPC4 Wal-Mart
	6213250
	
	
	

	ADPC4  Walgreens
	6213260
	
	
	

	External Label Generation
	
	2
	N/A
	IBM CSC Rochester

	Custom Packaging
	
	1
	N/A
	IBM CSC Rochester

	
	
	
	
	

	Software 
	
	
	
	

	Windows 2000 Professional License
	Microsoft
	1
	N/A
	IBM Netvista

	Windows 2000 Professional Label
	Microsoft
	1
	N/A
	IBM Netvista

	PC Anywhere  (license only shipped to HD)
	07-92-06829
	1
	N/A
	IBM Atlanta

	Ghost (license only shipped to HD)
	07-92-7083
	1
	N/A
	IBM Atlanta

	Software Recovery CD
	Custom
	1
	
	IBM/IBM Kiosk

	Wal-Mart  (3 CDs) Application Software

ADPC4 Wal-Mart Recovery CD-ROM 

ADPC4 Wal-Mart & Sam’s Club AUX CD    

ADPC4 Wal-Mart Standard Greetings CD
	June 2003

June 2003

August 2002
	1
	
	IBM Atlanta


1.4
Manufacturing Assembly Bill of Material for 1609-F46C
Part Number 44L1046—with CD-RW Drive and Keyboard Extension Cable

	Description
	Part Number
	Qty
	FRU No.
	Source/Mfg

	Enclosure, ADPC Lite Kiosk:  Chassis, Covers, Bezels, Printer Drawer Slides, Electrical Box
	Fuji ADPC4
	1
	
	PTM/ITTC

	
	
	
	
	

	IBM/OEM Integrated Parts

	
	
	
	

	Board, System—Spartan Planar w/o POV.  Ports:  10/100 Ethernet, 4 USB, 2 Serial, 1 Parallel, 1 RJ45
	89P8073
	1
	88P8474
	USI/IBM Kiosk

	CPU, 2.0 GHz Celeron
	38L4610 (Step C-1))

38L5116 (Step D-1)
	1
	88P5835
	Intel/IBM Kiosk

	Heat Sink, w/Fan
	01R3329
	1
	01R3330
	Foxconn/IBM Kiosk

	Fan, System, 60 mm
	22P4375
	1
	22P3635
	Chenghome/IBM Kiosk

	DIMM, 256MB, DDR
	38L4786
	1
	33L3305
	Micron/IBM Kiosk

	Power Supply, 185W (Wildcat Chassis)
	24P6880
	1
	24P6883
	AcBel/IBM Kiosk

	HDD, 40GB, 7200 RPM
	07N9673
	1
	19K1568
	Hitachi/IBM Kiosk

	Rail, HDD
	19K5335
	2
	19K5335
	Foxconn/IBM Kiosk

	Rail, DVD
	25K1621
	2
	
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Left
	00N6455
	1
	00N6413
	Chengming/IBM Kiosk

	Rail, 6-in-1 Reader, Right
	00N6457
	1
	00N6413
	Chengming/IBM Kiosk

	Cable, DVD and HDD, 80-pin IDE
	37L5001
	2
	49P4364
	Foxconn/IBM Kiosk

	Suppression Core, Flat Cable
	0443163951
	1
	
	Fair-Rite/ITTC

	Speakers, Audio, w/Cable
	63P9788
	1
	41P7043
	Kuroda/ITTC

	Cable, Power, Display
	63P9793

(PG8B9J2CA0A-18)
	1
	41P7044
	Longwell/ITTC

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Cable, Touch Screen, Serial, 2 ft.
	63P9785

(FJ09K18-0B)
	1
	41P7046
	Foxconn/ITTC

	Cable, Monitor, 2 ft.
	63P9786

(CD15D02D15-K40)
	1
	41P7047
	Foxconn/ITTC

	Button Assembly, Power
	37L4985
	1
	41P7050
	Foxconn/IBM Kiosk

	Blank, I/O Filler
	09N5740
	3
	
	Foxconn/ITTC

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD)
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878
	Adaptec/IBM Kiosk

	Drive, CD-RW, Internal, SCSI, Tray-load
	PX-W4012TS-BULK/FF
	1
	41P5217
	Plextor/IBM Kiosk

	Cable, SCSI, Three-position, 40 in.
	IB-062602A
	1
	41P7285
	PacTech

	Drive, Floppy, Internal
	06P5294, 19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	41P7060
	Foxconn/ITTC

	Cable, USB 2.0 Port Extension, 3 ft.
	PC-U2AAMF3
	1
	41P8141
	H. Dadpey/IBM Kiosk

	Cable, Keyboard Extension, 3 ft.
	IB-PS2MF03




	1
	20R2946
	H. Dadpey/IBM Kiosk

	
	
	
	
	

	
	
	
	
	

	Ship Group Parts
	
	
	
	

	Paper, Roll, 110 mm O.D.
	?
	
	
	Epson/IBM Kiosk

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Keyboard, Mini, PS2, Ivory
	KB-595P
	1
	40P6682
	SolidTek/IBM Kiosk

	Suppressor, Surge, 6 outlets, ISO
	ISOBAR6
	1
	40P3417
	Tripp-Lite/IBM Kiosk

	Recovery CD, 1609-F46A
	Custom
	1
	
	IBM/IBM Kiosk

	
	
	
	
	

	Optional Parts
	
	
	
	

	Thermal Printer Assembly – Built by CSC
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	

	
	Cover, Electrical, Printer
	63P9720
	1
	
	

	
	Bracket Assembly, Controller Board, Printer
	63P9747
	1
	
	

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	M-T532AP-001
	1
	
	

	
	Board, Controller, 24VDC
	D104011
	1
	
	

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Paper, Roll, 110 mm Diameter
	?
	
	
	Epson/IBM Kiosk

	Scanner, Barcode
	TBD
	1
	TBD
	Symbol/IBM Kiosk

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD2503L36-K41)
	1
	41P7057
	Foxconn/ITTC

	Reader, Credit Card, Serial, Port-powered, Fully Programmable, Triple Track, LED, 5V, Dual Heads, w/Cable
	MSR 152-33-WBKB-PDH
	1
	
	UIC/IBM Kiosk

	Cable, Reader, Credit Card, Serial
	FOXCONN0303
	1
	
	Foxconn/IBM Kiosk

	Bracket, Reader, Credit Card
	63P9653
	1
	
	PTM/ITTC


2
Fuji Product Codes
2.0
Items shipped on ADPC4 – Generic Version with DVD, Product Code 06213230
	Description
	Part Number
	Qty
	FRU No.
	Source/Mfg

	Enclosure, ADPC Lite Kiosk:  Chassis, Covers, Bezels, Printer Drawer Slides, Electrical Box
	Fuji ADPC4
	1
	
	ITTC

	
	
	
	
	

	IBM/OEM Integrated Parts
	
	
	
	

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD)
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878
	Adaptec/IBM Kiosk

	Cable, SCSI, Two position, 28 in.
	IB-062601A
	1
	41P7284
	PacTech

	Drive, DVD, IDE, Slot-load
	DVD-120S
	1
	See Kit (below)
	Pioneer/IBM Kiosk

	Kit, DVD Drive w/Rails and Dust Shield
	25K1622
	
	20R3398
	ITTC/IBM Kiosk

	Drive, Floppy, Internal
	06P5294, 19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	41P7060
	Foxconn/ITTC

	
	
	
	
	

	Ship Group Parts
	
	
	
	

	Paper, Roll, 110 mm Diameter
	?
	
	
	Epson/IBM Kiosk

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Keyboard, Mini, PS2, Ivory
	KB-595P
	1
	40P6682
	SolidTek/IBM Kiosk

	Suppressor, Surge, 6 outlets, ISO
	ISOBAR6
	1
	40P3417
	Tripp-Lite/IBM Kiosk

	Recovery CD, Generic
	Custom
	1
	
	IBM/IBM Kiosk

	
	
	
	
	

	Optional Parts
	
	
	
	

	Thermal Printer Assembly – Built by CSC
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	

	
	Cover, Electrical, Printer
	63P9720
	1
	
	

	
	Bracket Assembly, Controller Board, Printer
	63P9747
	1
	
	

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	M-T532AP-001
	1
	
	

	
	Board, Controller, 24VDC
	D104011
	1
	
	

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Paper, Roll, 110 mm Diameter
	?
	
	
	Epson/IBM Kiosk

	Scanner, Barcode
	TBD
	1
	TBD
	Symbol/IBM Kiosk

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD25C03L36-K41)
	1
	41P7057
	Foxconn/ITTC

	Reader, Credit Card, Serial, Port-powered, Fully Programmable, Triple Track, LED, 5V, Dual Heads, w/Cable
	MSR 152-33-WBKB-PDH
	1
	
	UIC/IBM Kiosk

	Cable, Reader, Credit Card, Serial
	FOXCONN0303
	1
	
	Foxconn/IBM Kiosk

	Bracket, Reader, Credit Card
	63P9653
	1
	
	PTM/ITTC


2.1
Items shipped on ADPC4 – Wal-Mart Version, Product Code 06213250
	Description
	Part Number
	Qty
	FRU No.
	Source/Mfg

	Enclosure, ADPC Lite Kiosk:  Chassis, Covers, Bezels, Printer Drawer Slides, Electrical Box
	Fuji ADPC4
	
	
	

	
	
	
	
	

	IBM/OEM Integrated Parts
	
	
	
	

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD)
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878
	Adaptec/IBM Kiosk

	Cable, SCSI, Two position, 28 in.
	IB-062601A
	1
	41P7284
	PacTech

	Drive, DVD, IDE, Slot-load
	DVD-120S
	1
	See Kit (below)
	Pioneer/IBM Kiosk

	Kit, DVD Drive w/Rails and Dust Shield
	25K1622
	
	20R3398
	ITTC/IBM Kiosk

	Drive, Floppy, Internal
	06P5294, 19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	41P7060
	Foxconn/ITTC

	
	
	
	
	

	Ship Group Parts
	
	
	
	

	Paper, Roll, 110 mm Diameter
	?
	
	
	Epson/IBM Kiosk

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Keyboard, Mini, PS2, Ivory
	KB-595P
	1
	40P6682
	SolidTek/IBM Kiosk

	Cable, Ethernet, CAT5E (Enhanced 350) Blue with molded boot, 50 ft.
	PN-C50B-50M
	1
	
	H. Dadpey/IBM Kiosk

	Suppressor, Surge, 6 outlets, ISO
	ISOBAR6
	1
	40P3417
	Tripp-Lite/IBM Kiosk

	Recovery CD, Generic
	Custom
	1
	
	IBM/IBM Kiosk

	
	
	
	
	

	Optional Parts
	
	
	
	

	Drive, CD-RW, Internal, SCSI, Tray-load
	PX-W4012TS-BULK/FF
	1
	41P5217
	Plextor/IBM Kiosk

	Cable, SCSI, Three-position, 40 in.
	IB-062602A
	1
	41P7285
	PacTech

	Thermal Printer Assembly
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	

	
	Cover, Electrical, Printer
	63P9720
	1
	
	

	
	Bracket Assembly, Controller Board, Printer
	63P9747
	1
	
	

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	M-T532AP-001
	1
	
	

	
	Board, Controller, 24VDC
	D104011
	1
	
	

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Paper, Roll, 110 mm Diameter
	?
	
	
	Epson/IBM Kiosk

	Scanner, Barcode
	TBD
	1
	TBD
	Symbol/IBM Kiosk

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD25C03L36-K41)
	1
	41P7057
	Foxconn/ITTC

	Reader, Credit Card, Serial, Port-powered, Fully Programmable, Triple Track, LED, 5V, Dual Heads, w/Cable
	MSR 152-33-WBKB-PDH
	1
	
	UIC/IBM Kiosk

	Cable, Reader, Credit Card, Serial
	FOXCONN0303
	1
	
	Foxconn/IBM Kiosk

	Bracket, Reader, Credit Card
	63P9653
	1
	
	PTM/ITTC

	Scanner, Perfection 1660 PHOTO
	B11B153011
	1
	
	Epson/Fuji

	
	
	
	
	

	Software
	
	
	
	

	Wal-Mart  (3 CDs) Application Software

ADPC4 Wal-Mart Recovery CD-ROM 

ADPC4 Wal-Mart & Sam’s Club AUX CD    

ADPC4 Wal-Mart Standard Greetings CD      


	June 2003

June 2003

August 2002
	1

1

1
	
	IBM Atlanta


2.2 Items shipped on ADPC4 – Walgreens Version, Product Code 06213260

	Description
	Part Number
	Qty
	FRU No.
	Source/Mfg

	ADPC4 Enclosure
	06213230
	
	
	

	
	
	
	
	

	IBM/OEM Integrated Parts
	
	
	
	

	Display, 15 in. TFT LCD, Intellitouch, Serial, Antiglare, beige (1545L)
	E26202-000
	1
	40P6861
	ēlo Touchsystems/IBM Kiosk

	Reader, Memory Card, 6-in-1 (SM, xD, MS, CF, PC Card , SD)
	903991
	1
	41P5747
	SCM Micro/IBM Kiosk

	Adapter, SCSI, Bootable BIOS w/Internal Cable
	1965400
	1
	20K6878
	Adaptec/IBM Kiosk

	Drive, DVD, IDE, Slot-load
	DVD-120S
	1
	See Kit (below)
	Pioneer/IBM Kiosk

	Kit, DVD Drive w/Rails and Dust Shield
	25K1622
	
	20R3398
	ITTC/IBM Kiosk

	Cable, SCSI, Two-position, 28 in.
	IB-062601A
	1
	41P7284
	PacTech

	Drive, Floppy, Internal
	06P5294, 19K1540, 76H6093, 75H9549
	1
	41P7059
	TEAC/IBM Kiosk

	Cable, Floppy Drive
	49P4763
	1
	41P7060
	Foxconn/ITTC


	Ship Group Parts
	
	
	
	

	External CD Ship Group
	
	
	
	

	
	Drive, CD-RW, External, SCSI, Tray-load
	PX-W4012TSE-BULK/FF
	1
	41P7048
	Plextor/IBM Kiosk

	
	Cable, SCSI II, HPDB50M to DB25M, 6 ft.
	PC-S206M
	1
	41P7286
	PacTech

	
	Cable, SCSI II, HPDB50M to DB25M, 8 ft.
	PC-S208M
	1
	41P7287
	PacTech

	
	CD-R, Blank
	
	3
	
	Fuji/IBM Kiosk

	
	Envelope, Protective, CD-R
	
	3
	
	IBM Kiosk

	Paper, Roll, 110 mm O.D.
	?
	
	
	Epson/IBM Kiosk

	Line Cord, External, 6 ft.
	6952298
	1
	6952298
	Longwell/ITTC

	Keyboard, PS2, Ivory
	KB-595P
	1
	40P6682
	SolidTek/IBM Kiosk

	Recovery CD, Generic
	Custom
	1
	
	IBM/IBM Kiosk

	
	
	
	
	

	Optional Parts
	
	
	
	

	Thermal Printer Assembly
	63P9746
	1
	41P8073
	ITTC/ITTC

	
	Printer Assembly #1
	63P9744
	1
	
	

	
	Cover, Electrical, Printer
	63P9720
	1
	
	

	
	Bracket Assembly, Controller Board, Printer
	63P9747
	1
	
	

	
	Printer, Receipt, Thermal, 80 mm, 150 mm/sec, 24VDC, Straight Paper Path, Partial Cut
	M-T532AP-001
	1
	
	

	
	Board, Controller, 24VDC
	D104011
	1
	
	

	
	Card, Printer Input, with Switch
	63P9749

(D118001)
	1
	
	Epson/IBM Kiosk

	
	Tray, Paper
	63P9772
	1
	
	PTM/ITTC

	
	Spindle
	63P9773
	1
	41P8143
	ITTC/ITTC

	Guide, Printer Base
	63P9736
	2
	
	PTM/ITTC

	Power Supply, 24V, Printer
	63P9676

(C825341)
	1
	41P8142
	Epson/IBM Kiosk

	Cable, Power Supply, 24VDC (IEC320 into DBOX, C13), 1 m
	36L8859
	1
	41P7058
	Longwell/ITTC

	Paper, Roll, 110 mm Diameter
	?
	
	
	Epson/IBM Kiosk

	Scanner, Barcode
	TBD
	1
	TBD
	Symbol/IBM Kiosk

	Cable, Printer, Parallel, 36-pin Male to DB25 Male, 3 ft.
	63P9787

(CD25C03L36-K41)
	1
	41P7057
	Foxconn/ITTC

	Reader, Credit Card, Serial, Port-powered, Fully Programmable, Triple Track, LED, 5V, Dual Heads, w/Cable
	MSR 152-33-WBKB-PDH
	1
	
	UIC/IBM Kiosk

	Cable, Reader, Credit Card, Serial
	FOXCONN0303
	1
	
	Foxconn/IBM Kiosk

	Bracket, Reader, Credit Card
	63P9653
	1
	
	PTM/ITTC


3
Test Group

This group identifies the bench equipment required to test the ADPC4.

1609-F46 BIOS Floppy Diskette (Level 24KT48AUS)
Fuji Test CD (with large image)

Fuji Test Diskette

Fuji Test Smart Media

Fuji Test Compact Flash Media
Fuji PCMCIA Adapter

Fuji Test Multimedia 

Fuji Test Memory Stick

Fuji Test xD-Picture Card Media
USB Flash Drive

One ADPC4 Configuration Checklist

ADPC4 Integration Procedure (this document)

Epson Thermal Paper stock…any size for test print

Keyboard

Mouse

Optional:  Test Credit Card
4 
Integration Procedure
This section provides build instructions for the assembly and build of the processor used in Fuji ADPC4 systems.  All component parts should be pulled before building the system.  Verify against order that all processor components have been pulled and delivered to work station for installation.  If you are short any parts, do not begin build until all parts are available.  Contact kiosk management regarding any shortages.  First, familiarize yourself with the literature relating to the part to be installed.  Then, contact the kiosk software engineer regarding any unresolved questions.  If there are defects and/or problems with a part, fill out the technician's section of a CSC Defective Equipment Report; take it and the part to Quality Control.  Report the problem immediately to kiosk administration and notify production coordinators.  To keep warranty records and to service components in the field, a FIN number must be assigned to each system’s collective, external components as if they were enclosed within an enclosure.  After doing the above, please contact a product administrator if you have any questions.

CAUTION:  ESD NOTE.  Be sure to wear electrostatic discharge straps                                when handling electronic components in the CPU build process.

Left and right are oriented facing the front of the unit, unless otherwise specified.

.1
Chassis Subassembly

.1.0
Attach (2X) Monitor Mount Bracket Assemblies to the Chassis with (4X) M4 X 8 Screws.



[image: image3.jpg]




.1.1
Attach the Bezel Hold-down Bracket to the front of the Chassis with (2X) M4 X 8 mm Screws.



[image: image4.jpg]




.1.2
Assemble  and install the Speaker Assembly.



.1.2.0
Attach the Speakers to the Speaker Bracket Assembly with (2X) M3 X 20 mm Screws.




[image: image5.jpg]





.1.2.1
Attach the Speaker Assembly to the Chassis with (2X) M4 X 8 mm Screws.




[image: image6.jpg]




.1.3
Attach the CD Dust Shield to the Monitor Bezel.



[image: image7.jpg]




.1.4
Attach (2X) Bezel Mounts to the Monitor Bezel with (2X) M4 X 8 mm Screws.



.[image: image8.jpg]




.1.5
Attach the Monitor Bezel Assembly to the Chassis with (9X) M4 X 8 mm Screws.


[image: image9.jpg]





.1.6
Adjust the Speaker Assembly such that the Speakers are flush with the inner surface of the Monitor Bezel.




[image: image10.jpg]




.1.7
Apply 267 mm X 1 mm Edging to the rectangular opening in the bottom of the Chassis.  (See the picture following .1.8.)


.1.8
Apply 45 mm X 1 mm Edging to the slot in the Power Supply mount on the Chassis.



[image: image11.jpg]




.1.9
Install the DVD Assembly.


.1.9.0
Attach DVD Bracket to the Chassis with (3X) M4 X 8 mm Screws.  Tighten the two (2) rear screws and leave the front screw loose enough to allow the bracket to slide.


[image: image12.jpg]





.1.9.1
Attach (2X) Rails to the DVD Device



[image: image13.jpg]





.1.9.2
Remove the bezel from the DVD Device.


.1.9.3
Insert the DVD Assembly into the DVD Bracket from the rear and push it forward until the rails snap into place.  Loosen the two (2) rear screws and adjust the assembly so that the device makes firm contact with the Monitor Bezel.  Tighten the two (2) rear screws, remove the DVD Assembly from the bracket and tighten the front screw.  Reinsert the DVD Assembly and ensure that it is located against the Monitor Bezel.



[image: image14.jpg]





.2.0
Install the HDD Assembly.




.2.0.0
Attach the HDD Bracket to the Chassis with (4X) M4 X 8 mm Screws.





[image: image15.jpg]



.2.0.1
Attach (2X) Rail Assemblies to the HDD.


[image: image16.jpg]



.2.0.2
Ensure that  the Jumper is set to MASTER.

.2.0.3
Insert the HDD Assembly into the HDD Bracket from the rear and push it forward until the rails snap into place.

[image: image17.jpg]




.2.1
Install the 6-in-1 Reader Assembly.


.2.1.0
Attach the 6-in-1 Reader Bracket to the Chassis with (3X) M4 X 8 mm Screws.  Tighten the two (2) rear screws and leave the front screw loose enough to allow the bracket to slide.


[image: image18.jpg]



.2.1.1
Attach (2X) 6-in-1 Reader Mount Brackets to the 6-in-1 Reader with (4X) M3 X 6 Screws.  (See the picture following .2.1.2.)

.2.1.2
Attach the Left Rail Assembly and the Right Rail Assembly to the 6-in-1 Reader Mount Brackets.


[image: image19.jpg]



.2.1.3
Set the Jumper to Setting #2 and apply additional Jumper to the Terminator pins.


.2.1.4
Insert the 6-in-1 Reader Assembly into the 6-in-1 Reader Bracket from the rear and push it forward until the rails snap into place.  Loosen the two (2) rear screws and adjust the assembly so that the device makes firm contact with the Monitor Bezel.  Tighten the two (2) rear screws, remove the 6-in-1 Reader Assembly from the bracket and tighten the front screw.  Reinsert the 6-in-1 Reader Assembly and ensure that the flange on the 6-in-1 Reader bezel is flush with the inner surface of the Monitor Bezel.



[image: image20.jpg]




.2.2
Attach the Monitor Cross Bracket Assembly to the Monitor Bracket Assemblies with (4X) M4 X 8 mm Screws.  Ensure the center holes are biased to the right with respect to the front of the Chassis.



[image: image21.jpg]




.2.3
Connect the 9-pin Serial Cable to the ēlo Touchsystems Display.  (See the picture following .2.5.)

.2.4
Connect the 9-pin Video Cable to the ēlo Touchsystems Display.  (See the picture following .2.5.)

.2.5
Connect the Power Cord to the ēlo Touchsystems Display.



[image: image22.jpg]|

LT





.2.6
Attach the ēlo Touchsystems Display Assembly to the Monitor Cross Bracket Assembly with (4X) M4 X 5 mm Screws supplied by ēlo Touchsystems with the Display.



[image: image23.jpg]




.2.7
Connect an 80-pin IDE Cable to the DVD Drive.  (See the picture following .2.9.)

.2.8
Connect an 80-pin IDE Cable to the HDD.  (See the picture following .2.9.)

.2.9
Connect the 50-pin SCSI Cable to the 6-in-1 Reader.



[image: image24.jpg]




.2
Motherboard Chassis Subassembly


.1.0
Apply 267 mm X 1 mm Edging to the rectangular opening in the bottom of the Motherboard Chassis.




[image: image25.jpg]





.1.1
Install the Floppy Disk Drive in the Bracket attached to the Motherboard Chassis with (4X) M3 X 6 mm Screws.



[image: image26.jpg]





.1.2
Obtain a Motherboard and lay it on a work surface with an ESD mat.



.1.2.0
Install the Processor Module into the Processor Socket on the Motherboard.




[image: image27.jpg]





.1.2.1
Attach the Heat Sink with Fan to the Processor.



[image: image28.jpg]





.1.2.2
Connect the Fan Wire to the “CPU FAN” Connector on the Motherboard.  (See the picture following .1.2.1.)



.1.2.3
Apply the FRU Label where marked on the Motherboard.


.1.3
Install the Motherboard in the Motherboard Chassis and fasten it with (8X) 6-32 X 0.25 in. Screws.




[image: image29.jpg]





.1.4
Install the Power Supply into the Motherboard Chassis.




.1.4.0
Ensure the Voltage Selector Switch is set to 110V.




.1.4.1
Ensure the tab on the Power Supply engages the Motherboard Chassis through the rectangular opening in the bottom of the Motherboard Chassis.




.1.4.2
Fasten the Power Supply to the Motherboard Chassis with (4X) M3.5 X 7 mm Screws.





[image: image30.jpg]





.1.5
Install the DDR DIMM Memory into the DDR1 Memory Slot on the Motherboard.



[image: image31.jpg]





.1.6
Install (3X) I/O Blanks, one in each I/O slot in the Motherboard Chassis I/O Panel, except for PCI1.



[image: image32.jpg]





.1.7
Install the SCSI Adapter PCI Card in the PCI1 I/O Connector.




[image: image33.jpg]





.1.8
Install the I/O Lock onto the Motherboard Chassis and secure it with a M3.5 X 7 mm Screw.



[image: image34.jpg]





.1.9
Connect the Power Supply P1 Connector to the ATX Connector on the Motherboard.




[image: image35.jpg]





.2.0
Connect the Power Supply P6 Connector to the AUX 12V Connector on the Motherboard.




[image: image36.jpg]





.2.1
Route all of the other cables through the rectangular opening in the bottom of the Motherboard Chassis.


.2.2
Connect the Power Button Assembly Connector to the F-PANEL 2 Connector on the Motherboard.




[image: image37.jpg]





.2.3
Snap the Power Button Assembly into the I/O Panel on the Motherboard Chassis.




[image: image38.jpg]





.2.4
Secure the Power Button Assembly wires to the P6 Power Supply Connector Cable with a Cable Tie.



.2.5
Connect the Right-angle Line Cord to the Power Supply Outlet.


.2.6
Lay the Data Cables that are attached to the Media Devices within the Chassis, and the Speaker Wires, over the back of the display so they are out of the way for the Motherboard Chassis installation.



.2.7
Connect the Power Supply P7 Connector to the DVD Device.



.2.8
Connect the Power Supply P3 Connector to the HDD.



.2.9
Connect the Power Supply P4 Connector to the 6-in-1 Reader.



.3.0
Connect the Power Supply P5 Connector to the Floppy Disk Drive.



.3.1
Connect the Floppy Data Cable Connector to the Connector on the Floppy Disk Drive.



.3.2
Insert the Motherboard Chassis Subassembly into the Chassis Subassembly and fasten with (6X) M4 X 8 mm Screws.  (The cables are connected per steps .3.3 through .3.8.)



[image: image39.jpg]





.3.3
Connect the DVD Data Cable to the IDE1 Connector on the Motherboard.  


.3.4
Connect the HDD Data Cable to the IDE2 Connector on the Motherboard.  



.3.5
Attach a Ferrite Suppression Core to the HDD IDE Cable.




[image: image40.jpg]MmN, -
-






.3.5
Connect the Speaker Wire Connector to the SPEAKER Connector on the Motherboard.  Manage the length of the Speaker Wires by doubling them upon themselves, then secure them with a Cable Tie.



.3.6
Connect the 6-in-1 Reader Data Cable to the SCSI Adapter PCI Card.


.3.7
Connect the 9-pin Serial Cable to the Serial Connector on the Motherboard


.3.8
Connect the 9-pin Video Cable to the Video Connector on the Motherboard.


.3
Printer Chassis Subassembly


.1.0
Assemble the Printer Tray Subassembly.
.1.0.0
Install Slide Rails

.1.0.0.0
Remove (2X) Inner Rails from (2X) Outer Rail Assemblies.


[image: image41.jpg]



.1.0.0.1
Attach the (2X) Inner Rails, one to each outer side of the Printer Tray Subassembly with (4X) M4 X 6 mm Screws.




[image: image42.jpg]






.1.0.1
Install the Front Cover Assembly to the Printer Tray Subassembly with (9X) M4 X 8 mm Screws.





[image: image43.jpg]






.1.0.2
Install the Credit Card Filler with (2X) M4 X 8 mm Screws.  The Filler should snap into place.




[image: image44.jpg]







View from inside.





[image: image45.jpg]







View from the front.




.1.0.3
Install the Printer Power Supply with (2X) Printer Power Supply Brackets and (4X) M4 X 5 mm Screws.





[image: image46.jpg]






.1.0.4
Install (2X) Cable Tie-down Brackets to the Printer Tray Subassembly with (2X) M4 X 6 mm Screws.





[image: image47.jpg]






.1.0.5
Assemble the Printer Assembly.
.1.0.5.0
Install the Printer Head to Printer Assembly 1 with (4X) M3 X 6 mm Screws.  


Start the Screws on the bottom-left and top-right corners first.

[image: image48.jpg]




[image: image49.jpg]






.1.0.5.1
Connect the Printer Head Cables to the Controller Card Connectors.



[image: image50.jpg]







.1.0.5.2
Install the Controller Card to Printer Assembly 1 with (4X) M4 X 8 mm Screws.  Route the cables between Printer Assembly 1 and the Printer Head as shown.



[image: image51.jpg]





[image: image52.jpg]



.1.0.5.3
Attach the Printer Input Card to the Printer Input Card Bracket with (4X) M3 X 6 mm Screws.


[image: image53.jpg]







.1.0.5.4
Disconnect the Switch Connector from the Printer Input Card and install the Printer Power Switch into Printer Assembly 1.  Align such that the power-on (bar) indicator is toward the Printer Head.

[image: image54.jpg]




[image: image55.jpg]



.1.0.5.5
Connect the Power Switch Connector to the Power Input Card.




.1.0.5.6
Attach the Printer Input Card Assembly to Printer Assembly 1 with (2X) M4 X 8 mm Screws.

[image: image56.jpg]







.1.0.5.7
Attach the Electrical Cover to Printer Assembly 1 with (3X) M4 X 8 mm Screws.


[image: image57.jpg]PESOAN








.1.0.5.8
Adhere an LED Indicator Label to the Printer Assembly.



[image: image58.jpg]






.1.0.6
Install the Printer Assembly in the Printer Tray Subassembly with (2X) Printer Base Guides and (4X) M4 X 10 mm Screws.



[image: image59.jpg]





[image: image60.jpg]





Reverse Angle


.1.0.7
Connect the Printer Power Supply Cable to the Printer Input Card, ensure the Cable length is sufficient to allow the Printer to move to the full-back position, manage the cable with a cable tie and tuck it into the corner where the Credit Card Reader is located, if installed.  (See the picture following .1.1.3.)

.1.0.8
Cable Tie the female end of the USB Cable and Keyboard Extension Cable to the Printer Power Supply Cable, leaving approximately six (6) inches of cable free on the end.  There are no devices connected to the female ends of the cables—they are installed for field use and upgrade kits, if ordered.


[image: image61.jpg]




.1.0.9
Attach the Cable Management Bracket to the Cable Management Track with (2X) M3 X 5 mm Screws.

.1.1.0
Attach the Cable Management Track to the Printer Tray Subassembly with (2X) M3 X 5 mm Screws.  (See the picture following .1.1.3.)

.1.1.1
Connect the Printer Power Supply Cable to the Printer Power Supply.  (See the picture following .1.1.3.)

.1.1.2
Connect the Printer Data Cable to the Parallel Connector on the Controller Card. (See the picture following .1.1.3.)



.1.1.3
Manage the Cables.  Tie all the Cables to the Cable Tie-Down Brackets and Cable Management Track with Cable Ties.


Note:  The Parallel Printer Cable must be tied such that it has sufficient length to reach the Motherboard.

[image: image62.jpg]



.1.1
Install (4X) Rubber Feet to the extrusions on the bottom of the Printer Chassis Subassembly.


[image: image63.jpg]



.1.2
Install (2X) Side Covers with (12X) M4 X 8 mm Screws, one to each side of the Printer Chassis Subassembly.


[image: image64.jpg]





.1.3
Install (2X) Rails, one to each of the inner sides of the Printer Chassis Subassembly with (4X) M4 X 6 mm Screws.


[image: image65.jpg]



.1.4
Install the Electrical Box Assembly to the Printer Chassis Subassembly with (3X) M4 X 8 mm Screws.

[image: image66.jpg]



.1.5
Install the Printer Tray Subassembly in the Printer Chassis Subassembly by inserting the Inner Rails into the Outer Rails and pushing the tray until it is fully closed.  (See the picture following .1.6.)
.1.6
Attach the Cable Management Bracket to the left side of the Printer Chassis Subassembly with (2X) M4 X 8 mm Screws.

[image: image67.jpg]





.1.7
Attach the Paper Tray to Printer Assembly 1 with (4X) M4 X 8 mm Screws.


[image: image68.jpg]



.1.8
Connect the Printer Line Cord to the Electrical Box Assembly.

.1.9
Install 272 mm X 2.5 mm Edging around the rectangular opening in the Printer Tray Cover Assembly.  (See the picture following .2.1.)
.2.0
Install (2X) Front Spacers, (1X) Right-rear Spacer, and (1X) Left-rear Spacer on the Printer Tray Cover Assembly with (4X) #6 X 3/8 in. Self-tapping Screws.  (See the picture following .2.1.)
.2.1
Install the Printer Tray Cover Assembly to the Printer Chassis Subassembly with (12X) M4 X 8 Screws.  The drawer must be open to slide the Printer Tray Cover between the Printer Chassis Subassembly and the Side Covers

[image: image69.jpg]



[image: image70.jpg]



.2.2
Route the Parallel Printer and USB Cables through the rectangular opening in the Printer Tray Cover Assembly.
.2.3
Apply Labels to the back of the Printer Chassis Subassembly.


.2.3.1
The Fuse Safety Label is centered below the Power Switch.


.2.3.2
The MT/SN Label is in the upper position on the right side.


.2.3.3
The ETL/FCC Label is in the middle on the right side.


.2.3.4
The Fuji FIN Label is on the bottom-right.

[image: image71.jpg]Cap.2 5 0 kgé@(ssoltls.)





.4
Final Assembly


.1.0
Attach the Chassis Subassembly to the Printer Chassis Subassembly.




.1.0.0
Set the Chassis Subassembly on the Spacers attached to the Printer Tray Cover.  Align the extrusions on the bottom of the Chassis Subassembly with the Spacers.




[image: image72.jpg]






.1.0.1
From the back of the unit, attach the Chassis Subassembly to the Printer Chassis Subassembly with (2X) Thumbscrews applied downward through the Chassis Subassembly floor.





[image: image73.jpg]






.1.0.2
From the front of the unit, open the Printer Tray Assembly (drawer) and attach the Chassis Subassembly to the Printer Chassis Subassembly with (2X) Thumbscrews applied upward through the top of the Printer Chassis Subassembly.



.1.0.3
Connect the Keyboard Extension Cable, USB and Parallel Cables to the Keyboard, USB and Parallel Connectors, respectively, on the Motherboard.  Connect the Power Line Cords to the Electrical Box outlets through the rectangular openings in the Chassis Subassembly and Printer Chassis Subassembly. 



[image: image74.jpg]



[image: image75.jpg]



.1.1
Close the Printer Tray Assembly and tighten the Thumbscrew on the back of the Printer Chassis Subassembly to secure the Printer Tray Subassembly in the closed position.



.1.2
Secure a System Fan to the Upper Cover Assembly with (4X) M3 X 30 mm Screws.  (See the picture following .1.3.)



.1.3
Adhere a System Board Locator Label to the Upper Cover Assembly.




[image: image76.jpg]





.1.2
Attach the System Fan Connector to the REAR FAN Connector on the Motherboard.


.1.3
Place the Upper Cover Assembly on the Chassis Subassembly and attach it with (6X) M4 X 8 mm Screws.



[image: image77.jpg]








.1.4
Place the Back Cover on the Chassis Subassembly and attach it with (4X) M4 X 8 mm Screws.




[image: image78.jpg]





.1.5
Install the Back Outer Cover to the Chassis Subassembly with (4X) M4 X 12 mm Thumbscrews.



[image: image79.jpg]



5 
Software Load and Test
.0
Test the Keyboard Extension Cable


.0.0
Open the Printer Tray to access the Keyboard Extension Cable.

.0.1
Connect a keyboard to the Keyboard Extension Cable.


.0.2
Use the keyboard to complete the following test procedure.

.1
Insert BIOS dated 7/26/2003 at Rev. Level 24KT48AUS in Floppy Disk Drive prior to power on.
.2
Power on PC.
.3
Load BIOS 24KT48AUS from diskette

.3.0
Select Option 1; US 

.3.1
Input the Serial Number.  

.3.2
Input the Machine Type/Model:  1609-F46
.3.3
Remove the BIOS diskette.
.3.4
Insert the Image CD.
.3.5
Press Enter to Reboot.
.4
Press F1 during Reboot.

.4.0
Verify the BIOS level, Serial Number, and 256 MB Memory.

.4.1
Exit



.3.1.0
Select “Load Default Settings.”


.3.1.1
Select “Save and Exit.”
.5
Update BIOS Parameters

.5.0
Main Tab:

.5.0.0
Machine Type 


1609-F46
.5.0.1
BIOS Revision


24KT48AUS
.5.0.2
Serial Number


1RXXXXX
.5.0.3
Date



Current date

.5.0.4
Time 



Current time (Eastern)
.5.1
Devices Tab:
.5.1.0

PS/2 Mouse


Enable

.5.1.1

Diskette



1.44 MB

.5.2
Start Up Tab:

.5.2.0
Keyboard-less operation

Enable

.5.2.1
Startup Device Menu

Disable

.5.2.2
Removable Devices

.5.2.2.0
Diskette




.5.2.3
Startup Sequence

.5.2.3.0
Primary






.5.2.3.0.0
CD/DVD



.5.2.3.0.1
Removable



.5.2.3.0.2
Hard Drive 0



.5.2.3.0.3
Disable

.5.2.3.1
Automatic  (same as above)

.5.2.3.2
Error Startup Sequence
Primary

.5.3
Security Tab:

.5.3.0
Security Profile by Device

.5.3.0.0
Removable


NOT Required

.5.3.0.1
Hard Disk


NOT Required

.5.3.0.2
Network


NOT Required 

.5.4
Power Tab:

.5.4.0
APM BIOS



Disable

.5.4.1
After Power Loss



Power On



.5.5
Exit tab:  Save and Exit


.6
Load Software
.6.0
Insert the Generic Fuji ADPC4 Software CD-ROM. into the DVD Drive.
.6.1
Ghost software load

.6.2
Reboot

.6.3
Press F12

.6.4
Select Hard Drive to boot to Windows.
.6.5
Eject the CD-ROM by double-clicking the Eject CD-ROM icon on the Desktop.

.6.6
Reboot

.7
Select Ctrl A to change the SCSI addresses.
.7.0
Select Configure/View Host Adapter Setting.
.7.1
Select SCSI Device Configuration.
.7.2
For ID 1 and ID 3, change the following (use arrow keys to go to the parameter and hit enter. From the presented list select the values below by arrow keys and press enter to accept). Do not forget to save the new settings before exiting this utility.

.7.2.0
Initiate Sync Negotiation

No

.7.2.1
Max Sync Transfer Rate

5 MB

.7.2.2
Enable Disconnection

No

.8
The following describes the Drive ID supported by the software.  Change the drive IDs if the following is not the default:  

.8.0
Drive E
SCSI 6-in-1 Reader / PC adapter

.8.1
Drive F
SCSI 6-in-1 Reader / compact flash

.8.2
Drive G
SCSI 6-in-1 Reader / smart media

.8.3
Drive H
SCSI 6-in-1 Reader / multimedia

.8.4
Drive I

SCSI 6-in-1 Reader / memory stick

.8.5
Drive J

DVD

.8.6
Drive K
SCSI 6-in-1 Reader / xd media

.8.7
Drive L
SCSI CD-RW 
.9
If necessary, change Drive IDs by selecting Settings/Control Panel.
.9.0
Select Administrative Tools.
.9.1
Select Computer Management.
.9.2
Select Disk Management.
.9.3
Select Drive 5.  


.9.3.0
Right click on CD-RW drive id (G). 

.9.3.1
Select ‘Change Drive ID’.

.9.3.2
Change ‘G’ to ‘J’ (this is a temporary step)

.9.4
Select Drive 3. 


.9.4.0
Right click on 6-in-1 Reader Drive ID (H).

.9.4.1
Select ‘Change Drive ID’

.9.4.2
Change ‘H’ to ‘G’

.9.5
Select Drive 4.



.9.5.0
Right click on 6-in-1 Reader drive id (I).

.9.5.1
Select ‘Change Drive ID’

.9.5.2
Change ‘I’ to ‘H’

.9.6
Select Drive 5.



.9.6.0
Right click on CD-RW drive id (J).

.9.6.1
Select ‘Change Drive ID’

.9.6.2
Change ‘J’ to ‘I’

.10
Confirm that all drives are installed.

.10.0
Select the IBM Help icon on the Desktop.
.10.1
Select Continue.
.10.2
Enter Call # 123456789, then select Enter.
.10.3
Select Unit Test, then Continue.
.10.4
Select Flash Calibration Tab.

.10.4.0
Select Monitor Calibration.

.10.4.0.0
Select Targets on the Touch Screen.
.10.4.0.1
Touch random areas on the Touch Screen and verify that the cursor follows.  Select Yes if appropriate.
.10.4.1
Select SCSI Adapter on the Touch Screen and confirm the following settings:

.10.4.1.0
ID #7 ATAPI

.10.4.1.0.0
ID #0:  IC35L060


.10.4.1.0.1
ID #0:  PIONEER


.10.4.1.1
ID #7 ADAPTEC PCI



.10.4.1.1.0
ID #2:  SCSI


Note: If all drives are not identified, check jumpers and cables.


.10.4.2
Select Six Slot Reader Flash on the Touch Screen.
.10.4.2.0
Select Yes to Flash.

.10.4.2.1
Close the Window following the download.


.10.5
Select Unit Testing on the Touch Screen.

.10.5.0
Load all forms of media in the 6-in-1 Reader.


.10.5.1
Select each Reader on the Touch Screen to test—an image will appear if working properly.


.10.6
Test the USB Cable



.10.6.0
Open the Printer Tray to access the USB Cable.



.10.6.1
Connect a USB Flash Drive to the USB Cable.



.10.6.2
Windows will find and load the device.



.10.6.3
Disconnect the USB Flash Drive from the USB Cable and select OK.

.10.7
Select the Printer Setup Tab on the Touch Screen.



.10.7.0
Select the Printer Setup button.



.10.7.1
“Epson is set as your default printer”—Select OK.



.10.7.2
The Printer will automatically print a test page.



.10.7.3
Select Exit


.10.8
The Printer will print a test log and status.


.10.9
Test Audio:  Touching the Touch Screen should result in a Beep.
.11
Check the System Date and Time and set if necessary.

.12
Remove all test media.

6 
Labeling, Packaging, and Shipping

.1 Attach Labels

.1.0 System Board ID Label:  Attach to the inside of the Upper Chassis Cover.
.1.1
MT/SN label:  Attach to upper-right rear corner of the Printer Chassis Subassembly.
.1.2
ETL/FCC:  Attach in the middle on the right rear of the Printer Chassis Subassembly.
.1.3
Fuji FIN:  Attach to the lower-right rear corner of the Printer Chassis Subassembly.

.1.4
Fuse Safety:  Attach below the Power Switch on the Printer Chassis Subassembly


.1.5
Paper Load:  Attach in the bottom of the Paper Tray.


.1.6
Printer Status:  Attached next to LEDs on the Printer Assembly.

.2 HI-POT Test

.3 Prepare Ship Group

.3.0
Line Cord, External, 6 ft.

.3.1
Optional


.3.1.0
Paper Roll, 110 mm Diameter

.3.1.1
Walgreens Options



.3.1.1.0
External CD Ship Group


.3.1.1.1
Recovery CD-ROM
.4 Collect Serial #s

.4.0
Kiosk Serial #
.4.1
Display Serial #

.4.2
External CD-RW, if applicable
.4.3
FIN

.5 Label Box Exterior with Fuji Product Code  
.5.0
Generic with DVD – 06213230
.5.1
Generic with CD-RW – 06213240

.5.2
Wal-Mart – 06213250



.5.3
Walgreens – 06213260
.6
Fuji-Canada Shipments


.6.0
Create MT/M Label:  MT/M 1609-F46

.6.1
Create SKU Label:  SKU 309462

.6.2
Apply MT/M Label to Box Exterior

.6.3
Apply SKU Label to Box Exterior

7
Checklist






Serial # ___________
Hardware Build

Chassis Subassembly
□
Attach Monitor Mounts (2X) to Chassis
□
Attach Bezel Hold-down Bracket to Chassis
□
Attach Speaker Assembly (Speakers and Speaker Bracket Assembly) to Chassis
□
Attach CD Dust Shield to Monitor Bezel
□
Attach Bezel Mounts (2X) to Monitor Bezel
□
Attach Monitor Bezel Assembly to Chassis
□
Adjust Speaker Assembly
□
Apply 267 mm X 1 mm Edging to Chassis
□
Apply 45 mm X 1 mm Edging to Chassis
DVD Assembly

□
Attach DVD Bracket to Chassis
□
Attach Rails (2X) to DVD Device

□
Remove Bezel from DVD Device

□
Adjust DVD Bracket (Insert and Remove DVD Device to Adjust and Tighten Screws)

□
Insert DVD Device in DVD Bracket

HDD Assembly
□
Attach HDD Bracket to Chassis
□
Attach Rail Assemblies (2X) to HDD

□
Set Jumper to Master

□
Insert HDD Assembly into HDD Bracket
6-in 1 Reader Assembly

□
Attach 6-in-1 Reader Bracket to Chassis

□
Attach 6-in-1 Reader Mount Brackets (2X) to 6-in-1 Reader
□
Attach the Left and Right Rail Assemblies to the 6-in-1 Reader Mount Brackets
□
Set Jumpers to Setting #2 and Terminator

□
Adjust 6-in-1 Reader Bracket (Insert and Remove 6-in-1 Reader to Adjust and Tighten Screws)
□
Insert 6-in-1 Reader Assembly in 6-in-1 Reader Bracket

□
Attach Monitor Cross Bracket Assembly to Monitor Bracket Assemblies
□
Connect 9-pin Serial Cable to Display

□
Connect 9-pin Video Cable to Display

□
Connect Power Cord to Display

□
Attach Display Assembly to Monitor Cross Bracket Assembly

□
Connect 80-pin IDE Cable to DVD Drive

□
Connect 80-pin IDE Cable to HDD

□
Connect 50-pin SCSI Cable to 6-in-1 Reader

Motherboard Chassis Subassembly

□
Apply 267 mm X 1 mm Edging to Motherboard Chassis

□
Attach Floppy Disk Drive to Motherboard Chassis
Motherboard Assembly

□
Install Processor Module on Motherboard

□
Attach Heat Sink/Fan to Processor

□
Connect Fan Wire to CPU FAN Connector on Motherboard

□
Apply FRU Label to Motherboard

□
Install Motherboard in Motherboard Chassis

□
Set Power Supply Voltage Selector Switch to 110V
□
Install Power Supply in Motherboard Chassis

□
Install DIMM in DDR1 Memory Slot on Motherboard

□
Install (3X) I/O Blanks in Motherboard Chassis (PCI1 Left Open)

□
Install SCSI Adapter Card in PCI1 I/O Connector

□
Install I/O Lock on Motherboard Chassis

□
Connect Power Supply P1 Connector to ATX Connector on Motherboard

□
Connect P6 Power Supply Connector to AUX 12V Connector on Motherboard

□
Connect Power Button Assembly Connector to F-PANEL 2 Connector on Motherboard

□
Attach Power Button Assembly to Motherboard Chassis

□
Cable Tie Power Button Assembly Wires to P6 Power Supply Connector Cable
□
Connect Right-angle Line Cord to Power Supply Outlet

□
Connect Power Supply P7 Connector to DVD Device
□
Connect Power Supply P3 Connector to HDD

□
Connect Power Supply P4 Connector to 6-in-1 Reader

□
Connect Power Supply P5 Connector to Floppy Disk Drive

□
Connect Floppy Data Cable Connector to Connector on Floppy Disk Drive
□
Insert Motherboard Chassis Subassembly into Chassis Subassembly

□
Connect DVD Data Cable to IDE1 Connector on Motherboard

□
Connect HDD Data Cable to IDE2 Connector on Motherboard

□
Attach Ferrite Suppression Core to HDD IDE Cable

□
Connect Speaker Wire Connector to SPEAKER Connector on Motherboard.  Manage wire length with Cable Tie.
□
Connect 6-in-1 Reader Data Cable to SCSI Adapter PCI Card

□
Connect 9-pin Serial Cable to Serial Connector on Motherboard
□
Connect 9-pin Video Cable to Video Connector on Motherboard

Printer Chassis Subassembly

Printer Tray Subassembly

□
Attach (2X) Inner-part of  Slide Rails to Printer Tray Subassembly
□
Install Front Cover Assembly to Printer Tray Subassembly
□
Install Credit Card Filler to Printer Tray Assembly
□
Install Printer Power Supply to Printer Tray Subassembly
□
Install Cable Tie-down Brackets to Printer Tray Subassembly


Printer Assembly


□
Install Printer Head to Printer Assembly 1

□
Connect Printer Head Cable to Controller Card Connectors

□
Install Controller Card to Printer Assembly 1

□ 
Attach Printer Input Card to Printer Input Card Bracket


□
Install Printer Power Switch to Printer Assembly 1


□
Connect Power Switch Connector to Power Input Card


□
Attach Printer Input Card Assembly to Printer Assembly 1


□
Attach Electrical Cover to Printer Assembly 1


□
Adhere LED Indicator Label to Printer Assembly

□
Install Printer Assembly in Printer Tray Subassembly
□
Connect Printer Power Supply Cable to Printer Input Card
□
Cable Tie Female end of USB Cable to Printer Power Supply Cable
□
Attach Cable Management Bracket to Cable Management Track
□
Attach Cable Management Track to Printer Tray Subassembly
□
Connect Printer Data Cable to Parallel Connector on Controller Card
□
Tie Cables to Cable Tie-down Brackets and Cable Management Track

□
Install (4X) Rubber Feet to Printer Chassis Subassembly

□
Install (2X) Side Covers to Printer Chassis Subassembly

□
Install (2X) Slide Rails to the Printer Chassis Subassembly
□
Install Electrical Box Assembly to Printer Chassis Subassembly

□
Install Printer Tray Subassembly in Printer Chassis Subassembly

□
Attach Cable Management Bracket to Printer Chassis Subassembly

□
Attach Paper Tray to Printer Assembly 1

□
Connect Printer Line Cord to Electrical Box Assembly

□
Install 272 mm X 2.5 mm Edging to Printer Tray Cover Assembly

□
Install Front, Right- and Left-rear Spacers on Printer Tray Cover Assembly

□
Install Printer Tray Cover Assembly to Printer Chassis Subassembly

□
Route Parallel and USB Cables through Printer Tray Cover Assembly


Apply Labels


□
Fuse Safety Label


□
MT/SN Label


□
ETL/FCC Label


□
Fuji FIN Label

Final Assembly

□
Attach Chassis Subassembly to Printer Chassis Subassembly

□
Connect USB and Parallel Cables to USB and Parallel Connectors on Motherboard

□
Secure Printer Tray Assembly in Closed Position with Thumbscrew on back of Printer Tray Assembly
□
Secure System Fan to Upper Cover Assembly

□
Adhere System Board Locator Label to Upper Cover Assembly

□
Attach System Fan Connector to REAR FAN Connector on Motherboard

□
Attach Upper Cover Assembly to Chassis Subassembly
□
Attach Back Cover to Chassis Subassembly

□
Attach the Back Outer Cover to Chassis Subassembly

Software Load and Test
□
Insert BIOS Diskette

□
Power On PC
□
Select Option 1; US

□
Input SN (1RXXXXX)

□
Input MT/M (1609-F46)

□
Remove BIOS Diskette

□
Insert Image CD

□
Press Enter to Reboot

□
Press F1 during Reboot

□
Verify BIOS Level, SN, Memory (256 MB)

□
Select “Load Default Settings”

□
Select “Save and Exit”
Update BIOS Parameters
□
Main Tab

□
Devices

□
Start Up Tab

□
Security Tab

□
Power Tab

□
Exit Tab – Save and Exit

Load Software

□
Insert Generic Fuji ADPC4 Software CD-ROM

□
Load Ghost Software

□
Reboot

□
Press F12

□
Select Hard Drive to boot to Windows

□
Eject CD-ROM
□
Reboot

Load SCSI Settings

□
Select Ctrl A

□
Select Configure/View Host Adapter Settings
□
Select SCSI Device Configuration

Modify ID 1 and ID 3


□
Initialize Sync Negotiation

NO


□
Max Sync Transfer Rate
5 MB


□
Enable Disconnection
NO

Check Drive IDs and Change if Necessary (Settings/Control Panel)

□
Drive E
SCSI 6-in-1 Reader / PC Adapter

□
Drive F
SCSI 6-in-1 Reader / Compact Flash


□
Drive G
SCSI 6-in-1 Reader / Smart Media


□
Drive H
SCSI 6-in-1 Reader / Multimedia


□
Drive I
SCSI 6-in-1 Reader / Memory Stick


□
Drive J
DVD Drive


□
Drive K
SCSI 6-in-1 Reader / xD Media


□
Drive L
SCSI CD-RW Drive

Confirm Drives Installed


□
Run IBM Help


□
Enter Call # 123456789

Flash Calibration Tab

Monitor Calibration


□
Select Targets


□
Touch Random Areas.  Verify Cursor Follows.


□
Select SCSI Adapter


Confirm ID#7 ATAPI




□
ID #0:  IC35L060




□
ID #0:  PIONEER


Confirm ID #7 ADAPTEC PCI



□
ID #2:  SCSI


□
Flash Six Card Reader


□
Select Unit Testing



□
Load Media in 6-in-1 Reader



□
Test Each Reader


□
Test the USB Cable

Printer Setup Tab

□
Select Printer Setup


□
Ensure Epson is Set as Default Printer


□
Retrieve Test Page, Test Log and Status

□
Test Audio:  Note Beep when Display is Touched
□
Check System Date/Time (Correct if Necessary)

□
Remove All Test Media
Labeling, Packaging, Shipping
Attach Labels


□
System Board ID

□
MT/SN

□
TL/FCC

□
Fuji FIN

□Fuse Safety

□
Paper Load

□
Printer Status
Test


□
HI-POT
Ship Group


□
Line Cord, External, 6 ft.

Optional


□
Paper Roll, 110 mm Diameter

Walgreens Options


□
External CD Ship Group

□
Recovery CD-ROM

Collect Serial Numbers


□
Kiosk Serial Number


□
Display Serial Number


□
External CD-RW, if applicable


□
FIN

Fuji Product Code Label:  Outer Box


□
Generic with DVD – 06213230


□
Generic with CD-RW – 06213240


□
Wal-Mart – 06213250


□
Walgreens – 06213260
Fuji-Canada Packaging:  Outer Box


□
Attach MT/M Label


□
Attach SKU Label



























12/17/2015



ADPC4 Integration

Rev E      1 of 62

